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[3] Choose the most appropriate word(s) for each sentence and mark @, @, @ or @ on the answer

sheet,
(1) My mother tried to tatk me () buying a big car.
O about @ away with @ outof
(2) This play will be performed at a big theater in front of (
© alarge @ alot @ many
(3} A:1don't like green tea.
B:( ).
(D Either doI @ Either I do @) Neither do T
(4) Please remind him because he is { ) to forget.
O easily @ likely ® seem
(5) Some countries do not allow people () in the park.
D eat @ eaten @ eats

E (13 - 3)

@ to

) audience.
@ much

@ Neither I do

@ suppose

@ toeat
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[4] Complete the following sentences by putting the most appropriate word(s) in each space. Then
mark on the answer sheet the corresponding numbers for words in the blanks ( a ) and ( b ). The

same word (s) cannot be used twice.

(1) Myboylriend () (Ca)C ) y(b)( ) )

D fails @ never ® once @ call ® to ® me
@ aweek a b
12 | 13
(2) Theassignment{ )(a)(C )YC YO YCbY( )( ) first sight
@® not @ was @ as @ seemed ® at ® easy
@ it as a b
14 | 18
(8) (. dCa)dthisC ) D(b)( ).
O town @ visits ® whoever @ will ® it © like a b
16 | 17
(4) Sara ( ) Ca ) ) ) (o) ( ) () Thailand,
@ as @ talked @ to & had ® been ® though _
@ she a b
18 { 19
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[5] Put the sentences in each box in appropriate order so as to make a meaningful story. Then mark on

the answer sheet one correct answer from the four options.

(1)
eSO R LY,
BRwELEEA,
(HOW TO WIN FRIENDS & INFLUENCE PEOPLE Dale Carnegie, Pocket Books)
© Tu—Aa @ A>T @ A—=9-=7 @ o= Af->7 20
(2y
FFEREOBRIC XY
BEln L EAA,
(LET’S ENGLAND Colin Joyce, NHK HJi)
O 7oA @ FTou—Aq 3 A7 @& T 21
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[6] Read the following article and answer the questions below.

EEEREOBSI D,
B LERA,

(the japan times alpha January 4, 2019)
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What does the underlined part [ A ] imply? Choose the best one from below.
Mihori is the last person to be attracted by Japanese tradition.

Mihori deeply devotes himself to wagashi world,

No one doubted Mihori could become a famous rock star.

No one believed Mihori was a member of a wagashi making family.

Refer to the underlined part [ B _]. Choose the best word below to fill in the blank.
besides @ likewise ® though () thus

The underlined part [ C ] rigid is closest in meaning to
adaptable @ current @ flexible @ strict

The underlined part [ D ] reticence is closest in meaning to

amazement @ silence @ eloquence @ significance

Choose one true statement from the article.

Mihori had wanted to be a wagashi craftman since he was a child.

Mihori thinks English communication is not necessary to succeed as wagashi craftmen.
Mihori found some similarities between Japanese sweets and Western sweets.

Mihori's performance adds extra values to Japanese sweets.
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[7] Read the following article and answer the questions below.

EREGREOBAK XY,
BEW LA,
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{Newsweek https:// wwwnewsweek.com/ language-tolerance-second-language-education-633790)

Refer to the underlined part [ A 1. Choose the best word below to fill in the blank,

Additionally @ Contradictorily & Permanently @ Thoroughly 27

Refer to the underlined part [ B 1. Choose the best word below to fill in the blank.

Entirely @ Equally @ Gradually @ Unfortunately 28

Which of the following does the underlined part [ C | imply? Choose the best one from below.
Students can criticize stereotypes of different cultures harshly.
Students can reprimand stereotypes of different cultures strictly.

Students can depreciate stereotypes of different cultures capricicusly.

Students can look at stereotypes of different cultures objectively. 29
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(4)

The underlined part [ D ] is closest in meaning to

@ deposit @ humidity @ trend @ weather

(5} The underlined part [ E 1 is closest in meaning to
@D ask for @ avoid @ demand @ reinforce
(6) Refer to the underlined part L F 1. Choose the best phrase below to fill in the blank.

D In accordance with (2 In addition to @ In contrast to @ In honor of

30

31

32

(7) Refer to the spaces | @ |, | @ | [ @ |, and in the article. Choose the most appropriate

space for the following sentence.

Individuals with higher levels of tolerance of ambiguity have also been found to be more

entrepreneurial (ie, are more optimistic, innovative and don't mind taking risks).

(8)

® @8 e

® e <

What is implied in the article? Choose the best phrase from below to fill in the blank.

In adult language learning, those with a high tolerance of ambiguity

33

are more susceptible to the unknown words than those without
have to build more vocabulary than those without
can continue communication more pleasantly than those without

respect cultural differences less than those without

34

Which of the following is NOT mentioned as a benefit of learning a second language in the article?

Learning a foreign language helps you to be more knowledgeable about business affairs.

Learning a foreign language helps you to be more generous ahout different ways of thinking and

behaving.

(® Learning a foreign language helps you to be more venturesome and less anxious in unfamiliar

situations.

@ Learning a foreign language helps you to be less affected by aging-related mental diseases.

E (13 - 11)
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(10) Which of the following would be the best title for the article?
How to analyze cultural stereotypes
How to overcome language barrier

Learning a second (or third) language takes time

CHCECHC

Learning a second (or third) language improves tolerance
[8] kO bEOWTHEOBERLSENU LORETEE L X,

Practice makes perfect. (%9 &L B{EIL L)
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